Multiplying by Powers of 10

1.48.75x100=___

2.506.75x100=__

3.68.55x1000=____

4.1045x10=____

5.18.607x1000=____

6.67.751x10=____

7.9.15x1000=____

8.88.29x1000=____

9.98.625x1000=___

10.25.50x 1000 =____

11.

12.

13.

14.

15.

16.

17.

18.

19.

609.75x100=___

91.52x100=____

296.6 x100=____

105.6325x 1000= _

106.925x100=____

69.902x1000=____

92x1000=____

1000.325x1000=___

425.325x1000=____

.670.75x1000=____
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21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

670.75x100=___

161.75x1000=__

685.55x10=____

1030.45x100=____

10.67x1000=____

670.75x100=____

56.75x100000=_____

718.92x1000=____

158.62 x 10000 = __

15.500 x 1000 = __

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

69.75x1000=___

69.69x10=____

255.255x10=____

1870.65x 1000= _

6925x100=____

8.926x1000=____

9248 x 1000 =

103.325x1000=____

625.25x1000=___

67.756 x 1000 = __
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